o(d dxy) (cm)

o(d o) (rad)

R I A

o(d dz) (cm)

—— DQM_V0001_R000000001
—+— DQM_V0001_R000000001
—— DQM_V0001_R000000001

Global
Global
Global

—=— DQM_V000I_RO0O00000001__Global__CMSSW_ckfPU50__RECO
CMSSW_mkFitPU50LowPtQuad__RECO
CMSSW_LowptQnoSC_RECO
CMSSW_LowptQnoDC_RECO

.........................................................................

%i ..... » H _____ T __________ p,t

;_é

o
:*L

_*_

'@
TR T

e e 3'
TP CD (PCA to beamline)

o p_/p.)

=

0.954

401

TP ® (PCA to beamline)



	Contents
	Page 1


